T ERFNER X T EER X
£ REABES B3 E 2 A 12 8| |$rFEAB|% W3 &E 2 H 128
#H=X 1 E B EHBERETEICE |E B EHBERSE T EYE
TR EER X - TR EFRIE R Xis, X

'

W ( \ / //
Y BESNENORESDEKR 218 kN/m2  —— 7/,
, '\vi?m%nw LU
% 0,

¥
T

Y

7A

[ B E S < E T PR BokGR () R 1JHS 1258
(AR AR B850, B BB O R ORGEE 15

NWRAIPT VBN

<
0

FIUZ7RB7R0, | . 292
BRBEZNDEE |THR
X & #F S [1523315
K& 0% % [Hixn <) \
REDOFrEH |[ZEESETHAERS - 78
RERETESE/ AR E] <
TR AR b £ , 5555
T RRICENEEM(CIER
g%?%ééfﬁnéﬁmom/mz
THEROES 2952
e PO p— i 1:2,500
BAER | X iE:;L(uJIUE%%{!J’EFﬁm 131l e
X _E;%-}:téﬁ‘ziénémmw 2 - /_J
+EROBEN mFORS ///___\\\ m ﬁo gl
A\ ———\ — W AN

O COREHIE, ZHREERMNEICLSMMEIC, RAICLIRERHERFZLI-LDOTHY ., —HERLH>TRADEENHYET,
FHLE REHAICE RIS,



T KEZERRIEFHRERG ILVEIR)
# 2
ERES | 1523315 ESE3 S | miEh | BEESETHAERA

i'
g
i

2
P

ki‘éﬂ%iﬁﬁ*ﬁ/*ﬁ .»—"“

-




ERE
FiT
=)

ETHARE
[ =
JTE12H28
MEG @ K

Al

[=]
=

Pa
M

pel-]

i
E R

Hh
REF

il
ER = # (FE k&)

IARERH

IL

7=

/)

1523315
il
el

)3

1/25,000E &)

%

J

B (S

#=X 3
7K
ERAL

S e e
= 4'1.4, A =

(= = 0 ,, NS AR ) 7 V/\ \ S S
- G

“ Mf\\

! adl/ AN

(T, EX RO RDEBEFL T NIEESRELN )

: )
ﬂ >

40 =~
2 NS 7 | 2 m
8 ] =
3 ) ) (
S S = (Y
] N R SN Z ) 1/ = X
NN ~ NN Z o /
QSR s Z \ ) > \ o
\ = 3 — & 2 0 @
) \ S — T N 5 R \
[ N o { ,.; = 5 = ,
"N ,,,/,,/ﬂx © N < R 3
(@
R & 2 =
(S \ 2)) =
B Z = = =7 Z
Z D Z \\ Z " ) 2
( NN (« Tie=N = 14
7 7
Z & \ <
y \

DN DN S I,

({i N ) I/ ~ Y
! —\/ S — 4 =AU/ A W\ RSN A
) =D} 2 \ (U&= 8 ) ﬂ
7 == ) N i) ) =) /
7 = S iy R D)L Q= /
1 : \ 2 = \% % N n/ﬂ
=\ NN\ o L Ny e e O\
| e N ru\\\\ 7 /% N AL AN SSINI== =0 b \ =
) N AN =%, N =N NG
29 NS \

M)

e R 7K

EOKE L Hh IR

-

MRl




